DELHI PUBLIC SCHOOL, BHILAI

Date : 23.02.2024 ANNUAL EXAMINATION 2023-24 Time : 3 Hrs.
Class : IX Subject : Communicative English Max. Marks : 80

General Instructions:

> The question paper contains 4 sections : Section A : Reading (20 marks),

Section B : Writing skills (24 marks),
Section C : Grammar (10 marks) and
Section D : Literature Textbook (26 marks)

> Attempt Questions based on the specific instructions for each part.
> All the questions of that particular section must be attempted in the correct order.

SECTION - A : READING SKILLS (20 Marks)

1. Read the passage given below : [10]

1.

Music is perhaps the most popular and widely practised form of Fine Arts, transcending all kinds of
cultural and linguistic barriers. Any form of fine art is difficult to master and almost impossible to
perfect and music is no exception.

Nature, it is learnt, has blessed almost two-thirds of the human race with musical ability of some sort.
Music has the power to bring out the deepest emotions. It can make one cry or bring a smile on one’s
face. In fact, it is a magic medicine and many seek refuge in it when they are depressed or stressed. It
is this intimacy that makes us listen to music or even hum or sing sometimes. This singing, or
realistically speaking, expressing one’s emotion musically sometimes takes a serious turn.

The desire to sing before an audience is innocent and beautiful and indeed it is perfectly alright to have
such a genuine desire. But it is also important to understand that, singing is an intricate art — a highly
refined one at that, which requires systematic, prolonged and strict training, to be acceptable. This is
an aspect we forget in our keen desire to reach the stage and perform. It is almost like preparing a

formal meal for some specially invited guests, without even having learnt and trained in the basics of
cooking.

These days almost everyone sings and it does not stop here. Most of us want to become professional
singers, Result : a complete disregard and ignorance of the training part, as the need is never felt to go
through one and the urge to get to the stage and perform overcomes even a little desire to learn, if any.
If at all, somewhere along the way one feels the need to gain some knowledge and training, it leads to
hurried shortcuts and half-hearted attempts, best described as ‘Crash Courses’.

It is observed that those who have attained the so called partial success, suddenly feel that they lack
the required knowledge and are not learned enough. But it is too late by then. It should be
understood here that the stage or a performance brings in a different mindset within the artist. It is
always recommended and rightly said, that while on stage, cover the mistakes and weaknesses if
any, and get along. But the contrary is true when it comes to acquire knowledge and during the
learning process. While under training, the student is expected to make mistakes but then rectify
those mistakes under the supervision and guidance of the teacher. Therefore, it is good to make
mistakes and then be corrected during the process of learning as this subsequently makes one
flawless and educated. This is a different mindset. And these two mindsets discussed above, (those of
a performer and that of a student) cannot co-exist.

Based on the understanding of the above passage, answer the following questions given below: (1x10=10)

(I) Music is perhaps the most popular and widely practiced form of..............

(1) Visual Art (i1) Audio-Visual Art (iii) Fine Arts (iv) Design Art
(IT) Nature has blessed almost two-thirds of human race with----===mn-m-- !

(1) singing ability (ii) musical ability (iii) dancing ability  (iv) None of these
(IIT) According to the passage, what does music bring out?

(i) Baser emotions (ii) Anger (iii) Lethargy (iv) Deepest emotions
(IV) What is forgotten in our keen desire to reach the stage and perform?
V) is described as ‘Crash Course’.

(1) Complete courses (i1) Distant courses (iii) Slow courses  (iv) Hurried shortcuts

(VI) What must an artist do while performing on stage?

(1) Cover the mouth  (ii) Sing loudly  (iii) Cover mistakes and weaknesses (iv) Sing slowly

(VII) What is expected of a student of music during the training process?
(VIII) State whether the statement is true or false:

Singing is not a refined and intricate art.

(IX) According to the passage, ‘refuge’ means:

(i) shelter from unhappiness (ii) shelter from snow
(iii) shelter from rain (iv) shelter from storm

(X) Give one word for the phrase which means the same as ‘rising above’ (para 1)
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2.  Read the passage given below:

1. A noble purpose gives meaning to one’s own life and is of benefit to others. I realised this when
researching on and writing about the life of Jamshed;ji Tata. What gave one man living in a colonised
country the vision to advance it in the community of nations? He not only gave India the power of
steel and hydroelectric energy, but also an institute of research.

2. He sent an educationist to Europe and the United States to report on what should be the best model
of an institute for India. The Johns Hopkins University in Baltimore was recommended as the model.
But Jamshedji made it a point to see that his name was not associated with the university. After his
death, his dream came true with the establishment of the Indian Institute of Science in Bengaluru. It
was to be the Fountainhead of Science in the decades to come. '-

you are
good at

That which you
can be paid
for
* Purpose

3. There are others too, whose purpose in life has made a difference to society. Mother Teresa had a
comfortable life at Loretto Convent, Kolkata. On a train journey to Darjeeling, she felt her ‘calling’
and wanted to give up her comfortable life in the convent and serve the poor and the needy.

4. After that, she took a three-month nursing course and returned to Kolkata. She devoted her time to
the sick and the homeless. Touched by her sacrifice, some of her students joined her and work
began. Not everyone has such a strong calling. When I asked her how one could be sure of one’s
calling, she replied, “Deep down in our hearts we know exactly what our calling is, if we are
sincere.”

5. One’s purpose is shaped over a period of time, but every noble purpose is based on a feeling for the
suffering of others and our desire to alleviate that condition. Some years ago, in Kerala, a young man
saw his father join Gandhiji and fought for opening temples to the Harijans. When he grew up, the
boy decided to take up agricultural studies, because he had seen the havoc caused by the Bengal
Famine. He went to Europe and studied agriculture. On his return to India, he spearheaded the Green
Revolution. Dr M.S.Swaminathan, thus demonstrated how purpose intensifies with time.

Based on the understanding of the above passage, answer the following questions given below: (1 x10=10)
(I) What is the significance of a noble purpose? (para 1)
(II) Who gave India the power of steel and hydroelectric energy?
(i) Jamshedji Ambani (ii) Jamshedji Birla  (iii) Jamshedji Tata  (iv) Ratan Tata
(II) Jamshedji Tata sent an educationist to Europe and the United States because he wanted
(i) him to go abroad
(ii) the educationist to be away from him
(iii) him to understand the model best suitable for India
(iv) to send him on a vacation
(IV) As given in the figure, you can fulfill the purpose of life, if you are good at-

(1) Passion (2) Mission (3) Profession (4) Vocation
(i)1and 3 (ii) 2and 4 (iii) 1 and 4 (iv)2 and 3
(V) What did Mother Teresa want to give up?
(i) Her religious belief (ii) Her comfortable life
(iii) Living in India (iv) None of these

(VI) How did Mother Teresa start working for the poverty stricken people?
(VII) Every noble purpose is based on —
(i) a feeling of making good money.
(ii) a feeling for the suffering of others and to alleviate it.
(iii) a feeling of demeaning others.
(iv) a feeling of making others inferior.
(VIII) Who had brought the Green Revolution to India?
(i) Dr.M.S.Swaminathan (ii) Mother Teresa (i) JamshedjiTata  (iv) Gandhiji
(IX) What does the above passage talk about?
(i) Being harsh with others in life (ii) Having no purpose in life
(iii) Giving a meaning to one’s own life (iv) Being selfish in life
(X) Give one word for ‘extreme scarcity of food’ (para )
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SECTION - B : WRITING SKILLS (24 Marks)

Vishal/Vishaka, Secretary of the Literary Club, National Public School, Ghaziabad. The Club is
organizing a Talk Show on ‘How to Shed the Examination Fear’ by a famous educationist Mr. Yashpal.
Write a notice, in about 50 words, inviting the students of Classes IX and X to the Talk Show, giving all
the necessary details. 4)
You are Rounak, talking to your friend Tejinder. You have to go to Shimla for a Student Exchange
Programme. Based on the inputs given below, construct a set of dialogues with five exchanges. The first

set of dialogue is given as an example. (5)
Example:

e Hello! to-go— Shimla

e Why?
Example:

Rounak : Hello! How are you? I have to go to Shimla...
Tejinder : When? Why?

o Tenth of April- Student Exchange Programme

e mode of travel ?- duration

e train- 3 days- 9:00am to 5:00pm daily
¢ Okay, seems- busy schedule

Yes, very busy- many events-lined up
any plans — for sight seeing

Yes...will go- for sight seeing
Good. you must

e come along- spend time together
e difficult- busy in Theatre Workshop - some other time

You are Umang / Urvi, living at A-110, Govind Marg, Delhi. You went on a holiday to Mount Abu with
your family during the winter holidays. Write a letter, in about 120 words, to your friend, Shweta / Sridhar
residing at Jaipur, sharing with her/him how you enjoyed your tour. (7)

The importance of sports and games is being increasingly recognized in India from both the educational
and social point of view. Write a paragraph in about 150 words using the hints given below: 3)

Education without physical fitness- incomplete — sports & games — invaluable — student life- instill
discipline, responsibility, self confidence — leadership qualities-foster friendships and amity-ensures good
health and fitness-proficiency in studies- healthy channel for diversion of energies-cultivate sportsman
spirit- not only magnanimous winners but also positive losers.

SECTION C: GRAMMAR (10 Marks)

The following passage has not been edited. There is an error in each line. Write the incorrect word and the

correction in the answer sheet against the blank number: (4x1=4)
Incorrect Correct
A teacher was teaching an important lesson on the class (e.g.) on in
when he notice that a student (0 e
sitting on the back of [ T B
the classroom has fallen [ T
asleeps during his lecture. (d)
Read the following conversation and complete the passage: (3x1=3)

Teacher : Why are you late?
Sumit : I missed my school bus.
Teacher : Why didn’t you leave in time?

Sumit : Sorry, I will do so from tomorrow.
The teacher asked Sumit (a) late. Sumit replied that (b) . When the teacher
asked him (c) Sumit apologetically replied that he would do so from the next day.
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10.

11.

12.

s ve

Complete the following passage by choosing the most appropriate options from the ones given

below: (3x1=3)
Sanitation and hygiene are also important for the well-being of society and biodiversity conservation. The
government has (a) a programme. It aims to develop (b) riverfronts. It will solve the
problem of pollution (c) the rivers.
(a) (i) initiates (ii) initiated (iii) initiate (iv) initiating
(b) (?) an (i) a (iii) in (iv) the
(¢) (1) on (i1 ) in (iii) onto (iv) by
SECTION - D: LITERATURE TEXTOOK (26 Marks)

Read the following extracts and attempt ANY TWO of the three given: (4+4=8)
(A) Then a soldier.

Full of strange oaths,

and bearded like the pard,

Jealous in honour,

sudden and quick in quarrel,
Seeking the bubble reputation.
Even in the cannon’s mouth.

(a) The soldier appeared in stage of life.
(i) second stage (ii) first stage (iii) fourth stage (iv) fifth stage
(b) What does the poet mean by the word ‘pard’ here?
(i) Hyna (i1) Tiger (iii) Lion (iv) Leopard
(¢) The main character traits of a soldier are
(i) being sensitive about his honour (ii) brave but not ambitious
(iii) unwilling to take part in quarrels (iv) jealous & greedy

(d) What does ‘bubble reputation” mean?

(B) If I"d known, I was paving the way
To cavity, caps and decay,
The murder of fillin’s
Injection and drillin’s
I’d have thrown all me sherbet away.
(a) Why did the poet develop cavities in her teeth?
(b) Which poetic device does the poet use in the second line?

(i) Metaphor (i) Simile (iii) Alliteration (iv) None of these
(¢) Choose the meaning of the word ‘sherbet’.
(i) hot drink (ii) a sweet candy (iii) a vegetable (iv) soup

(d) The rhyme scheme of the above stanza is-------------==- d

(C) I am dotted silver threads dropped from heaven
By the gods. Nature then takes me to adorn
Her fields and valleys.
(a) Name the poem and the poet of the above extract.
(b) Who is ‘T’here?
(i) Poet (ii) Rain (iii) God (iv) Sunrays
(c) Why is ‘I’being compared to silver threads ?
(d) The synonym of ‘beautify’ from the above stanza is

Attempt ANY SIX of the following in about 30-40 words: (2x6=12)

(a) Do you think that the story of Duke and Chuck is an inspiration for those who give up without
trying? Explain.

(b) In the lesson ‘Best Seller’, where was the narrator going? What did he observe in his chair car 7

(c) How was the poet affected by the song of the Solitary Reaper?

(d) What was the poet’s opinion about both the roads? (The Road not Taken)

(¢) What was the maid’s suggestion to Juliette in the play ‘A Villa For Sale’?

(f) How does the poet compare the life of a brook with that of a man?

(g) Do you think Private Quelch learnt a lesson when he was chosen for cookhouse duties? Give reasons
for your answer.

Answer ANY ONE of the following in about 120 words: (1x6=6)
Love, compassion and forgiveness are great human values which we must try to imbibe. Justify it in the
context of the play ‘The Bishop’s Candlesticks.’
OR
Did Harold react the way his parents expected him to on finding out about his father’s true profession?
Give reasons for your answer.
CBCECE OO
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DELHI PUBLIC SCHOOL, BHILAI

Date : 05.03.2024 Annual Examination 2023-24 Time : 3 Hrs.
Class : IX Subject : Mathematics Max. Marks : 80

General Instructions :

This Question Paper has 5 sections : A, B, C, D and E.

Section A has 20 MCQs carrying 01 mark each.

Section B has 5 questions carrying 02 marks each.

Section C has 6 questions carrying 03 marks each.

Section D has 4 questions carrying 05 marks each.

Section E has 3 Case Based Integrated units of assessment (04 marks each) with sub-parts of the values of

1, 1 and 2 marks each respectively.

7. All questions are compulsory. However, an internal choice in 2 questions of 5 marks, 2 questions of
3 marks and 2 questions of 2 marks has been provided. An internal choice has been provided in the
2 marks questions of Section E.

8.  Draft neat figures wherever required. Take 2—: wherever required if not stated.

G P O D e

Section — A (1x20=20)

01. The simplest rationalizing factor of V18 X V48 is
(a)2 (b) 182 (c) 48V2 (d) V6
02. The product of any two irrational numbers is
(a) always an irrational number (b) always a rational number
(c) always an integer (d) sometimes rational, sometimes irrational
03. If 64x%? —a= (8x + %) (Bx - %) , then the value of a is
(a) i (b) % (c) 8 (d) none of these
04. The value of the polynomial 5x? —2x +2 at x = 1is
(@35 (b)2 (©)1 (d) none of these
0S. The distance of a point from y axis is called
(a) ordinate (b) abscissa (c) origin (d) none of the above

06. The linear equation 2x — 7y = 7 has
(a) Unique solution (b) Two Solutions  (c) Infinitely Many Solutions  (d) No Solution

07. One of the Euclid’s axiom states that
(a) The whole may some time be equal to the part.
(b) Things which are double of different things may be equal to one another.
(c) Things which coincide with one another are equal to one another.
(d) None of the above

08. In the given figure, a is greater than b by one third
of a right angle, then the values of a and b are
(@) a=105°,b=75° (b) a=75°,b=105°

(¢)a=110°,b = 60° (d) none of these < w s B >
09. Inthe given figure, if AB || DE, o -
then the value of 2BCD is A e g 1207
(a) 50° (b) 100°
(c) 120°  (d) none of these P4
10. In the right angled triangles, APQR and A DEF , if hypotenuse PQ=hypotenuse EF and PR=ED then
APQR =
(a) ADEF (b) AEDF (c) AEFD (d) none of these
L% = -
11. Inthe given figure Za + 2b + 2¢c = T 5
(a) 120° (b) 180° & N
(c) 240° (d) 360° /
SRR Sty Fd'\.‘
12.  Two consecutive interior angles of a parallelogram are in the ratio of 2:3, then the smaller angle is
(a) 36° (b) 54° (c)y 72° (d) 108°
13. The quadrilateral obtained by joining the mid-points of the adjacent sides of a square is
(a) trapezium (b) rhombus (c) square (d) rectangle
14.  Two cones are of same height and the ratio of their radii is 1:2 then the ratio of their volumes is
(a) 2:1 (b) 1:2 (c)1:4 (d) 4:1
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15. The total surface area of a hemisphere whose radius is ri2 18

@3 mr (b) > mr? (¢) 3 mr? (d) rr?
16. Inthe given figure if LOAB = 40° G

then £ACB is equal to

(a) 50° (b) 40°

(c) 60° (d) 70°

fdr ™

AB

17. Anangle of a cyclic quadrilateral is 75° the the value of its opposite angle is

(a) 75° (b) 105° (c) 90° (d) 180°
18. The area of an equilateral triangle is 163 . The perimeter of the triangle will be
(a) 16 cm (b) 24 cm (c)32cm (d) 40 cm

In Question number 19 — 20, a statement of Assertion (A) is followed by Reason (R) you have to choose
correct option amongst the following options:
(a) Both Assertion (A) and Reason (R) are true and Reason is the correct explanation of Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the correct explanation of Assertion (A).
(c) Assertion (A) is true but Reason (R) is false.
(d) Assertion (A) is false but Reason (R) is true.

19. Assertion (A) : The area of scalene triangle of sides 4 cm, 8 cm and 16 cm is 4v105 .

Reason (R) : The area of a scalene triangle with sides a, band cis y/s(s —a)(s — b)(s — c)
a+b+c

where s =

20. Assertion (A) : The radius of a circle is 9 cm and length of one of its chords is 14 cm. Then the distance
of the chord from the centre is 4v2 cm .

Reason (R) : The perpendicular drawn from the centre of a circle to the chord bisects the chord.

B Section — B
21. Express 2.03 in formof p/q .
OR

Find two irrational number between V2 and V3.

22. On a cartesian plane, following points are located. Identify, in which quadrant or axes are they lying.

@ (0,2) (b) (—=2,3)

23. Write two Euclid’s axiom.
OR £
In the given fi gure, If AC=BD, then prove that AB=CD, 4™ B C D
and state the axiom used.

24. If the diagonals of a parallelogram are equal then show that it is a rectangle.

25. If two non parallel sides of a trapezium are equal, prove that it is cyclic.

Section - C
26. Factorise : (i) 64x3 +27y% + 2> — 36xyz
(i) 3x2—x—4
27. Whrite two solutions for the linear equation 3x + 2y +7 = 0. Also indicate the value of a, b and ¢ in the
given equation.

28. POQisaline. Ray OR is perpendicular to line PQ. OS is another ray lying between rays OP and OR.
Prove that £ROS = > (£Q0S — £POS)

OR
If a transversal intersect two lines such that the bisectors of a pair of corresponding angles are parallel.
Prove that the two lines are parallel.

29. Line [ isthe bisector of an angle A, and B is any point on [, BP and BQ are perpendiculars from B to
the arms of 2A , show that (i) AAPB = AAQB (i) BP=BQ

30. The sides of a triangle are in the ratio of 3:5:7 and its perimeter is 300 m. Find its area.
OR
Find the area of a triangle, two sides of which are § cmand 11 cm and the perimeter is 32 cm.

31. Find the radius of a sphere whose surface area is 154 cm?. Hence find its volume.
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33.

34.

35,

36.

37.

38.

$23 3
Section — D

AABC and ADBC are two isosceles triangles on the same base BC and vertices A and D are on the some
side of BC. If AD is extended to intersect BC at P, $
show that
(i) AABD = AACD
(i) AABP = AACD
(iii) AP bisects £A as well as £D
(iv) AP is the perpendicular bisector of BC. B P " C

ABCD is a rectangle and P, Q, R and S are mid-point of the sides AB, BC, CD and AD respectively.
Show that quadrilateral PQRS is a rhombus.

OR
In a parallelogram ABCD, E and F are the mid-points of AB and CD respectively. Show that the line
segment AF and EC trisect the diagonal BD.

The curved surface area of a cone is 308 cm” and its slant height is 14 cm.
Find (i) the radius of the base of the cone.
(ii) find Total Surface Area if the cone
(iii) Volume of the cone.
OR
A hemispherical bow! is made of steel 0.25 cm thick the inner radius of the bowl size is 5 cm. Find the
outer curved surface area of the bowl and volume of steel used.

Draw a histogram and frequency polygon for the given data :

height 50 -55 55 -60 60 — 65 65—-70 | 70-75 | 75-80 | 80—85
no. of people 12 8 5 4 5 7 6

Section — E

Rohan is renovating the floor of a banquet hall. He is tilling the whole
floor with the new rectangular tiles. A design is made on a rectangular
tile of dimensions 70 cm x 50 cm as shown in the figure. The design
shows 8 triangles, each of sides, 26 cm, 17 cm and 25 cm.
(i) Find the total area of the design.
(ii) Find the remaining area of the tile.
(iii) Find the cost of painting the design at the rate of Rs 2 per cm?. - s - s
OR
If the triangle formed would have been an isosceles right triangle with hypotenuse 16v/2, find the
length of the other two sides.

Slem

Democracy has given people a powerful right that is to VOTE. In India every citizen over 18 years of age
has the right to vote. Instead of enjoying it as a holiday, one must vote if he/she truly wants to contribute
to the nation building process.

A survey was done in a small area in which V9 + 2x — v2x voters were men and

women. Read the above statement carefully and answer the following:
(i) Find rationalizing factor of the no. of women who voted.
(ii) State whether the sum of men and women who voted is a Rational no. or Irrational no.

(iif) Find the value of x? +— if x=2+v3
OR

5
V9+2x

voters were

Simplify V45 — 3v20 + 4V5

’ e '
A farmer has a circular garden as shown in the picture ﬁ A {Ehﬁf__ﬁh_:}_ “
above. He has a different type of tree, plants and flower / . SRS : /\5 -
plants in this garden. In his garden, there are two mango s "~-.,\_\_m i
trees A and B at a distance of AB=10 m. Similarly has Pl e :
two Ashoka trees at the same distance of 10 m as shown, \ T T v N
at C and D. AB subtends £A0B = 120° at the centre O, P ;:/n
the perpendicular distance of AC from centre is 5 m the ?..:,_« == //
radius of the circle is 13 m. i, -

Answer the following questions : _
(i) What is the value of 2C0D, write the property of the circle used.
(ii) What is the distance between mango tree A and Ashoka tree C ?
(iii) What is the value of £0CD ?
OR
What is the value of 2ODC ?
[C{C:{C R 510} 5)



DELHI PUBLIC SCHOOL, BHILAI
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---------------------------------------------------------------------------------------------------------------------------------------------

General Instructions:
(i) The question paper comprises THREE sections A, B and C. There are 39 questions in the question paper.
(ii) All questions are compulsory.
(iii) Section—A PHYSICS (27) question no. 1 to 11.
Section-B CHEMISTRY (25) question no. 12 to 24.
Section—-C BIOLOGY (28) question no. 25 to 39.
(iv) Wherever necessary, neat and properly labelled diagrams should be drawn.
(v) For the questions based on assertion and reasoning question two statements are given — one labelled
Assertion (A) and the other labelled Reason (R). Select the correct answer to these questions from the codes
(a), (b), (c) and (d) as given below :
(a) Both A and R are true, and R is correct explanation of the assertion.
(b) Both A and R are true, but R is not the correct explanation of the assertion.
(c) A is true, but R is false.
(d) A is false, but R is true.

------------------------------------------------------------------------------------------------------------------

Section-A : Physics — 27 Marks

--------------------------------

-----------------------------------

Q.1 A force of 10N acts on a body of 2 Kg for 3 seconds. Work done by the body in 3 seconds will be — (1)
(a) 20J (b) 60J (c)225] (d) None of these

Q.2  What is true for thrust and pressure -- (1)
(a) Pressure varies with area ,while thrust remains constant . * -
(b) Thrust varies with area ,while pressure remains constant”
(c) Magnitude of thrust is always greater than that of pressure.: e
(d) Magnitude of pressure is always greater than that of thrust. '

Q.3  Assertion (A) : We do not work as we push the wall in the physics point of view.
Reason (R) : The condition for the force to do work is that it should produce motion in the object. (1)

Q.4 A cyclist travels along a circular path of radius 28cm .Find both the distance and the displacement in each
case after (i) half around and (ii) complete round . 2

Q.5 Give reason , Why? 2
(a) Athletes in high jump event fall on cushioned surface and not on floor.
(b) When a person jumps out from a boat on the bank of a river then the boat moves backward .

Q.6  Study the following Displacement- time graph of a wave motion and determine —

(a) Amplitude (b) Wavelength (¢) time period and (d) frequency of the wave. (2)
4 f-{ 5 cmt__kl ;‘.;,.. .“_:6. C;r_.- H-% ;t,v
T AF N b ;’w %;"-“;" e 3
Displacement (cm) | C 0004 E©0.008 G0.012 / A /
l : 3 \.../
D
Time - (s)

Q.7 (a) Define uniform acceleration ‘What is the acceleration of the body moving with uniform velocity ?
(b) Draw velocity -time graph for a body having non-uniform retardation.
(c) Between two given positions distance travelled can never be less than the displacement. Why? (3)

Q.8 (a) State Newton'’s First Law of Motion .
(b) A bullet of 10 g strikes a sand bag at a speed of 1 000 m/s and gets embedded after travelling 5 cm.
Calculate the resistive (i) force exerted by the sand on the bullet
(ii) time taken by the bullet to come to rest. 3)

Q.9 (a) Derive the relation for Kinetic Energy in terms of mass m and velocity v of a body.
(b) Mention what type of energy is converted into which other type of energy by the following devices
(i) Battery  (ii) Electric motor 3)
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Q.10 (a) What do you mean by free fall ? P
(b) Write two differences between ‘g’ and ‘G’. p
(c) A marble is dropped from the top of a tower. What distance does it fall after 3 second of dropping ?
Find its velocity at this point. )
OR

(a) Why does Moon exerts lesser force of attraction on the objects than that of the Earth ?

(b) As the altitude increases, how do the i) mass and ii) weight of a body change .

(c) Calculate the force of gravity between the earth of mass 6x10%* Kg and a body of mass 6 Kg placed on
the surface of the Earth. (Given, radius of the earth= 6 x10°m & G = 6.67x10™"! Nm%/Kg?). )

Q.11 Read the given passage and answer the questions based on the passage and related studied
concepts. (Case Based Question)

Reflected sound is called echo. Sometimes echo results in reverberation. It is not possible for us to hear
an echo every-time. Bats use ultrasonic squeaks to get it reflected from the prey or obstacle and detect its
location. Ultrasound finds endless applications in the field of medicine as well as industries. It is also
interesting to know that some animals produce and respond to Infrasound and some other respond to

ultrasound.

(a) What do you mean by ultrasound ? (1)

(b) Write name of one animal which respond to i) infrasound ii) ultrasound (1)

(¢) Write the two conditions for echo to be heard. 2)
OR

(¢) Explain, how Ultrasound is used to detect the flaws in the metals. 2)

Section-B : Chemistry — 25 Marks
Q.12 When heat is constantly supplied by a burner to boiling water, then temperature of the water during

vaporisation : (1)
(a) Rises very slowly (b) Rises rapidly until steajﬁs produced
(c) First rises and then becomes constant (d) Does not rise at all
Q.13 An example of liquid metal and liquid non-metal is 1)
(a) Gallium, Mercury  (b) Mercury, Chlorine (c) Mercury, Bromine (d) Bromine, Sulphur
Q.14 Which of the following statement is incorrect ? & o PNUR! Chronany (1)
(a) There is no gain or loss of energy (b) It is permanent and irreversible
. (©) Composition of the substance remain the same (d) No new substance is formed
Q.15 The atomic symbol of chlorine is :
(a) Cl (b) C (c) Ch (d) Co (1)
Q.16 Which of the following is triatomic molecule ? (1)
(a) Nitrogen (b) Hydrogen (c) Ozone (d) Oxygen
Q.17 How many electrons are occupied in the M shell ? (1)
(a) 8 (b) 16 (c) 18 (d) 32
Q.18 Who discovered the Proton ? (D)
(a) Goldstein (b) J.J. Thomson (c) Chadwick (d) Rutherford
Q.19 Assertion (A) : A solution of common salt in a glass of water is a homogenous.
Reason (R) : A solution having uniform composition throughout is homogenous. (D
Q.20 Define Cation and Anion. 2)
Q.21 State three properties of Suspension. (3)
Q.22 (a) Write chemical formulae of Aluminium Sulphate and Ammonium Carbonate.
(b) Calculate the molecular mass of Ca3(POy)2 (Atomic Mass of Ca=40 u, P =31 uand O=16 u) (3)
OR PLT

(a) A 0.24 g sample of a compound of oxygen and boron was found by analysis to contain 0:96-g of
boron and 0.144 of oxygen. Calculate the percentage composition of the compound by weight.
(b) Give the names of the elements present in Potassium Sulphate.

Q.23 Read the given passage and answer the questions based on the passage and related studied
concepts. (Case Based Question)
In an activity, crushed ice was taken in a beaker. A thermometer was mounted in such a way that its bulb
was thoroughly immersed in ice. The beaker was, then slowly heated and temperature was regularly
recorded. Temperature increased gradually as the heating was continued and it stopped rising when ice
started changing into liquid.

(a) Name the phenomenon associated with conversion of ice into water. (D

(b) Define latent heat of fusion. (1)

(c) Why does the temperature remain constant during change of state? Where does heat energy g0 ? 2)
OR

Liquid generally have low density as compared to solid, but ice which is solid floats over water, why?
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Q.24 (a) What would be the electronic configuration of Mg”* ion ? Atomic number of Mg is 12. (5)

Q.25

Q.26

Q.27

Q.28

Q.29
Q.30
Q.31
Q.32
Q.33

Q.34
Q.35

Q.36

Q.37

Q38

Q.39

(b) Calculate the number of proton and neutron in Carbon. (Atomic number is 6 and Mass number is 12)
(c) Write three applications of isotopes.

OR
(a) An element X contains 6 electrons in M Shell as valence electrons.
(1) What is atomic number of X ?
(11) Identify X as a metal or non metal.
(iii) Write chemical formula of compound formed when X combines with sodium.

(b) Draw the atomic diagram of 1S

Section-C : Biology — 28 Marks

The cell organelle seen in Prokarotic cell is - (1)
(a) Mitochondria Ribosome (c) Plastids (d) Lysosomes
The size of which of the cell is less than 10 ym ? - (1)
(a) Amoeba (b) Paramecium (c) Bacteria Both Amoeba and Bacteria.%/
Fats-are stored in the human body as — " (1)
mipose tissues  (b) Cubodial epithelium (c) Bones (d) cartilage.
Contractile proteins are found in — / (1)
( uscless (b) Bones (c) Cartliage (d) Blood
Which of the following is the cattle breed? @))
(a) HH260 (b) A. dorsata (c) Aseel (d)Bahiwal + \_~
The Micronutrient required by plants is — (N
(a) Nitrogen (b) Zinc (c) Potassium QJ,Magnesium [
Which of the following is a Rabi Crop ? (1)
(a) Gram (b) Cotton (c) Maize (d) Green Gram *
Assertion (A) : The lining of mouth is made of epithelial tissue.
Reason (R) : The epithelial tissue helps in absorption of nutrients. (1)
Assertion (A) : Plant cells swell when kept in hypertonic solutfon.
Reason (R) : There is less water in hypertonic solution th th@e&lls. (1)
What are suicidal bags in cells ? What do they contain ? (2)
Give reasons : (a) cells of sclerenchymatous tissues are dead and provide mechanical strength. O~

(b) Various parts of plants can easily bend without breaking. 2)

OR
Write any two differences between Tendon and ligament.~

What is mixed and intercropping ? State how intercropping is better cropping pattern than that of mixed
cropping ? 3)
Which structure in animal cell gives its definite shape ? How do the following get transported across it ?
(a) Oxygen and Carbon dioxide””  (b) Nutrients like glucose (3)

What are two types of vascular tissues in plants? Describe the structure and function of each vascular

tissue. / (5)
OR

Which tissue forms the cork in plants ? Why is the cork tissue important for plants ? Write the

characteristics (at least three) of this tissue.

Read the given passage and answer the questions based on the passage and related studied
concepts. (Case Based Question)

Honey is widely used and therefore, Bee keeping for making honey has become an agricultural
enterprise. Since Bee keeping needs low investments, farmers use it as an additional income generating
activity. In addition to honey, the beehives are a source of wax which is used in various medicinal
preparations.

(a) What is apiculture ? (1)

(b) What are the two products obtained during Bee keeping ? (D)

(c) On what factors the quality of honey depends upon ? (2)
OR

Why Italian Bees are used for commercial honey production ?
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General Instructions:

01.

02

03.

04.

0s.

06.

Attempt all questions.
Answer 1 mark questions as directed

Very Short Answer Type Questions carry 2 marks each. Answer to each question should not exceed 40
words.

Short Answer Type Questions carry 3 marks each. Answer to each question should not exceed 60 words.
Long answer type questions carry 5 marks each. Answer to each question should not exceed 120 words.
Case based questions with three sub questions carry 4 marks each.

Map based questions carry 5 marks with two parts, History (2 marks) and Geography (3 marks).

There is no overall choice in the question paper. However, an internal choice has been provided in a few
questions. Only one of the choices in such questions has to be attempted.

In addition to these, separate instructions can be there for some questions, wherever necessary.

HISTORY& CIVICS : 40 MARKS
Identify the correct option that describes the event given below. (1)

(1) All those whom he saw as being ‘enemies’ of the republic — ex - nobles and clergy, members of other
political parties, even members of his own party who did not agree with his methods — were arrested,
imprisoned and then tried by a revolutionary tribunal.

(i1) If the court found them ‘guilty” they were guillotined.
(iii) The guillotine is a device consisting of two poles and a blade with which a person is beheaded. It was
named after Dr Guillotin who invented it.

(a) Louis XVI executed  (b) The Reign of terror (c) Reforms of Napoleon {d) The rule of the Directory

Until 2015, in which country women did not have the right to vote? (1)
(a) Estonia (b) Fiji (c) Saudi Arabia (d) All the above
Consider the following statements about democracy and choose the right statement/s. (1)

(A) In Pakistan, General Pervez Musharraf led a military coup in October 1999
(B) He overthrew a democratically elected government and declared himself the ‘Chief Executive’ of the
country.
(C) In 2001 held a referendum in the country that granted him a five- year extension.
(D) In August 2002 he issued a ‘Legal Framework Order’ that amended the Constitution of Pakistan.
(a)A,B,Cand D (b) A,Band D (c)CandD (d)B,CandD

There are two statements marked as Assertion (A) and Reason (R). Mark your answer as per the codes
provided below: (1)
Assertion (A) : Dr. Ambedkar had a different understanding of how inequalities could be removed.
Reason(R) : He often highly praised Mahatma Gandhi and his vision.

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of Assertion (A).
(b) Both Assertion (A) and Reason (R) are true and Reason (R) is not the correct explanation of Assertion (A).
(c) Assertion (A) is correct but Reason (R) is wrong.

(d) Assertion (A) is wrong but Reason (R) is correct,

People have supreme right to make decisions on internal as well as external matters. No external power can

dictate the government of India. What do we call it? (D)
(a) Sovereign (b) Democratic (c) Preamble (d) Federal
Identify from the options given below, what did this symbol meant to the French Revolutionaries? (1)

(a) Cap worn by a slave upon becoming free  (b) Eternity (c) Knowledge (d) The act of becoming free
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07.  Evaluate the facts related to the Worldwide Economic Crisis by identifying appropriate statements among

the following options: (1)

(i) The German economy was the worst hit by the economic crisis.

(ii) By 1932, industrial production was reduced to 40 per cent of the 1929 level.
(i11) Workers lost their jobs or were paid reduced wages.
(iv) The number of unemployed touched an unprecedented 6 million.

Options:

(a) Statements i and ii are appropriate.
(b) Statements 1, ii and iii are appropriate.
(c) All the statements are appropriate.
(d) Only statement iv is appropriate.

08. A chgnge_: in the constitution made by the supreme legislative body in a country is called
constitutional . (Fill in the blank) (1)
09. Arrange the following statements in sequential order. (1)

(1) President Hindenburg offered the Chancellorship, the highest position in the cabinet of ministers, to
Hitler.

(11) This support was withdrawn when the Wall Street Exchange crashed in 1929.
(}11) The peace treaty at Versailles with the Allies was a harsh and humiliating peace.
(iv) A National Assembly met at Weimar and established a democratic constitution with a federal structure.

Options:
(a) v, iii, 1i, I (b) ii, i, iv, iil () i, iv, iii, il (d) 1, ii, i, iv
10. Consider the statements given below and choose the correct answer. (D)

Statement I : Constituency means voters in a geographical area who elect a representative to the
legislative bodies.

Statement II : A set of norms and guidelines to be followed by political parties and contesting candidates

during election time is called Code of Conduct.

(a) Statement (i) is correct and (ii) is incorrect

(b) Statement (i) is incorrect and (ii) is correct

(c) Both (i) & (ii) are incorrect

(d) Both (i) & (ii) are correct

11. Choose the right option to fill in the blank. ¢))
The President is the head of the State while the Prime Minister is the head of the v.covveveiecannnennnn..
(a) Legislature (b) Executive (c) Judiciary (d) Government
12. Which of these is not a Fundamental Right? (D
(a) Right to Freedom (b) Right to Equality
(c) Right to Exploitation (d) Right to Constitutional Remedies
13. A constitution of a democratic country does many things. Briefly explain any gwe. (2)
14. Write two immediate changes brought by the Bolshevik government after the October Revolution of 1917.  (2)
15. Briefly describe any two challenges to free and fair elections in our country. 2)
16. Describe any three of the legacies of the French Revolution of 17897 3)
17. The Lok Sabha is more powerful than the Rajya Sabha in many respects. Evaluate any three. 3)
18. (a) What was the Weimar Republic? Describe the three major problems faced by the Weimar Republic?
OR
(b) Who were the Nazis? What are the peculiar features (Three) of the Nazi thinking? (2+3=5)
19. (a) Explain the term ‘Fundamental right’? Describe the three specific evils our constitution mentions and
declares illegal under the Right against Exploitation. (2+3=5)
OR
(b) Explain the term ‘Secular state’? Express three constitutional provisions that make India a secular State.
(2+3=5)

20. Read the source given below and answer the questions that follow:

During the 1905 Revolution, the Tsar allowed the creation of an elected consultative Parliament or Duma.
For a brief while during the revolution, there existed a large number of trade unions and factory committees
made up of factory workers. After 1905, most committees and unions worked unofficially, since they were
declared illegal. Severe restrictions were placed on political activity. The Tsar dismissed the first Duma
within 75 days and the re-elected second Duma within three months. He did not want any questioning of
his authority or any reduction in his power. He changed the voting laws and packed the third Duma with
conservative politicians. Liberals and revolutionaries were kept out.

(i) Who allowed the creation of an elected consultative Parliament or Duma? (1)
(ii) After how many days, the Tsar dismissed the first Duma? (D)
(iii) Identify two major decisions taken after the 1905 Revolution? (2)
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21. Two places A and B have been marked on the given outline map of World. Identify them and write their
correct names on the lines drawn near them. 2)

GEOGRAPHY : 20 MARKS

22.  Which of the following union territory lies on the eastern coast of India? )
(a) Kerala (b) Dadar Nagar Haveli and Daman Diu
(c) Puducherry (d) Chandigarh

23.  Which one of the following statements is not correct about Khadar alluvium? (1)
(a) They are younger deposits. (b) They are found in the floodplains.
(a) They are renewed every year.  (d) They contain calcareous deposits.

24. Assertion (A) : The monsoon has tendency to have “breaks” in rainfall.
Reason (R) : The axis of the monsoon trough that keeps on moving northward or southward determines
the spatial distribution of rainfall in India. (1)
(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of the Assertion (A).
(b) Both Assertion (A) and Reason (R) are true and Reason (R) is not the correct explanation of the Assertion (A).
(c) Assertion (A) is correct and Reason (R) is incorrect.
(d) Assertion (A) is incorrect and Reason (R) is correct.

25. (a) What are barchans? €))

(b) What are the Purvachal? (1

26. Why is the monsoon considered a unifying bond? Support your answer writing three points. 3)

27. What are the significant features of the National Population Policy 2000? Write five points. ®)
OR

What do you mean by migration? How is migration a determinant factor of population change?  (1+4=5)
28. Read the source given below and answer the questions that follow:

The drainage system of India are mainly controlled by the broad relief features of the subcontinent.
Accordingly the Indian rivers are divided into two major groups:

* the Himalayan rivers; and

* the Peninsular Rivers

Apart from originating from the two major physiographic regions of India, the Himalayan and the
Peninsular Rivers are different from each other in many ways.

Most of the Himalayan rivers are perennial. It means they have water throughout the year. These rivers
receive water from rain as well as from melted snow from the lofty mountains. The Himalayan rivers have
long courses from their source to sea. They perform intensive erosional activity in their upper courses and
carry huge loads of silt and sand.

A large number of Peninsular rivers are seasonal, as their flow is dependent on rainfall.

The main water divide in Peninsular India is formed by the Western Ghats, which runs from north to south
close to the western coast. Most of the major rivers of the Peninsula such as the Mahanadi, the Godavari,
the Krishna and the Kaveri flow eastwards and drains into the Bay of Bengal. These rivers make deltas at
their mouths. There are numerous small streams flowing west of the Western Ghats. The Narmada and the
Tapi are the only long rivers, which flow west and make estuaries. The drainage basin of peninsular rivers
are comparatively smaller in size.

(a) What forms the main water divide in Peninsular India ? (D)
(b) Why are the Himalayan rivers perennial in nature? (1)
(c) Write two characteristic features of the Peninsular rivers. (2)
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30.

31,

32.

33.

34.
35.

36.

205

38.

Y B

On the given political outline map of India locate and label any three of the following: 3)
(@) Areas receiving annual rainfall less than 20 cm. (b) Konkan Coast.
(c) The state having the lowest density of population in India. (d) New Delhi.

ECONOMICS : 20 MARKS

Assertion (A) : Chronic Hunger is a result of food shortage.

Reason (R) : Chronic hunger is a result of poverty and inequality, which limits people's access to food. (1)
(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of Assertion (A).

(b) Both Assertion (A) and Reason (R) are true but Reason (R) is not the correct explanation of Assertion (A).
(c) Assertion (A) is true but Reason (R) is false.

(d) Assertion (A) is false but Reason (R) is true.

Identify the programme/courses initiated by government to improve education with the help of the hints
given below: ))
(a) Programme implemented to encourage attention, retention and nutrition among school children.

(b) Courses introduced by government to equip large number of high school students with occupations
related to knowledge and skill.

Read the given statements about Mahatma Gandhi National Rural Employment Guarantee Act, 2005 and

choose the correct option: (1)
1. It aims to create self employment opportunities among educated unemployed youth.

ii. It provides finance for setting up small business and industries in rural areas.

iii. It guarantees 100 days of wage employment for people living in rural areas.

iv. One-third of the proposed jobs under the act is reserved for women.

Options:

(a) Statements i and ii are correct

(b) Statements i, ii and iii are correct.

(c) Statements i, iii and iv are correct

(d) Statements iii and iv are correct.

Which co-operative has facilitated a network of NGOs for setting up grain banks in different regions? (1)
(a) AMUL (b) Mother Dairy (c) ADS (d) Antyodaya Anna Yojana

What is uniform standard for the poverty line used by the World Bank (Year:2011) ? (1)

What do you mean by economic activities? Explain Primary and Tertiary Sector Activities with one

example of each activity. (1+2=3)
OR

Define the term "Unemployment". Explain any two causes of unemployment. (1+2=3)

Which are the groups most vulnerable to food insecurity? Explain any three such groups with suitable
examples. 3)

The table below shows the poverty ratio in selected Indian states. Using the data in graph answer the
questions that follow:

(a) Which are the two poorest states according to the above data? ¢))

(b) Express your opinion why poverty exists in the above two states (two points) (1

(¢) Mention the reasons of poverty reduction in Andhra Pradesh, West Bengal, Punjab and Kerala. )

Define food security. How is food security affected due to calamities? Explain the dimensions of food

security. (1+1+3=5)
OR

What do you mean by Ration shops? Mention any three problems in the functioning of ration shops.  (2+3=5)
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General Instructions:

This question paper is divided into five parts sections namely A, B, C, D and E. Please read instructions in
each section carefully.

Section A consists of MCQs of 4 marks. Section B consists of MCQs of 20 marks.

Section C consists of Short answer questions of 6 marks.

Section D Short answer questions of 8 marks,

Section E consists of Long answer questions of 12 marks.

All questions of a particular section must be attempted in the correct order.

--------------------------------------------------------

Section A : Answer any 4 out of 6 questions: (1x4=4)
Q1. Which one of the following is not a method of communication?
a. Verbal communication b. Non-verbal communication
¢. Visual communication d. Non-visual communication

Q2. A group of words that make complete sense is calleda ............
a. Phrase b. Sentence c. Subject d. Predicate

Q3. People with low confidence are ............. .
a. Smart b. Pleasant c¢. Unprepared d. Arrogant

Q4. In an E-mail message, Cc stands for ..........
a. Carbon copy b. Cannot copy ¢. Can copy d. Contains copy

Q5. Entrepreneurship helps in EEIEYANOE oo vouirvives busiinns
a. Confidence b. Employement opportunities c. Regional development d. All of these

Q6. All natural resources need to be conserved DECRIRE oivivivnmeriiranoncs
a. They will soondecay  b. They will soon get exhausted
c. They are very costly d. None of these

Section B : Answer any 20 out of 24 questions: (1x20=20)

QI.  Which of the following is/are domains of artificial intelligence?
a. Data b. Neural networks c. Computer vision d. All of these

Q2.  Strong Al systemsare .................
a. able to defeat human beings in combat b. able to mimic intelli gence without being intelligent
c. capable of true intelligence d. unable to understand common tasks

Q3. Artificial narrow intelligence systems are ................

In research and development stage

the most common type of Al systems in existence today
the only type of Al systems in existence today

the last common type of Al systems in existence today

P ot

Q4. Which of the following statements are true regarding Google Pixel?
a. Itisan example of AI Augmentation
b. Itis an example of AI Automation
c. Itisan example of Al systems which learn by processing data
d. All of these

Q5. The Al systems in existence today cannot ............
a. Help in decision making b. Interpret visual scenes
¢. Recognise objects in videos d. Cannot categorise images

Q6. Which of the following is a must for the most of the Al related jobs?
a. Degree in Computer Science b. Degree in fields related to Computer Science
c. Knowledge of computers and math d.  Knowledge of computer engineering
Contd...2
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457 4L

In an Al project cycle, which of the following steps immediately follow Stakeholders Identification?
a. Goal setting b. Brainstorming problem
c. Identifying existing measures d. Identifying ethical concerns

Consider the following:
Emails, Documents, Videos, Audios
Theseare examples of ... v

a. Structured data b. Unstructured data ¢. Semi-structured data d. None of these

Consider the following:
i) Identifying individuals for maintaining data
ii) Identifying measures for securing data
ii1) Identifying the frequency of data collection
These points are a part of stage.

a. Data collection b. Datarequirement c. Dataanalytics d. Data curation

An Al project cycle ends with .........
a. Project Deployement b. Project Review c¢. Project Tuning d. None of these

Consider the following:

1) Checking to see if data meets the need

ii) Checking to see if data is free from errors and/or omissions
iii) Checking to see if data can be expanded according to the need

These checks are conducted during ................ Stage
a. Exploratory data analytics b. Data curation
c. Data collection d. Data acquisition

Which of the following sources contain labelled images of human faces?
a. Labelled Faces in the wild b. Labelled database of faces
c. Google Images d. IMDB image datasets

How do Artificial Neural Networks Learn?

a. By experience i.e. processing data

b. By knowledge, i.e. storing all the information

c. By creation, i.e. executing programs created for teaching
d. By mimicking, i.e. observing the humans operating them

What happens in the back propagation based Artificial Neural Network based learning systems?
a. The input gets compared with the intended input

b. The input gets compared with the intended output

c. The output gets compared with the intended input

d. The output gets compared with the intended output

In which of the following learning system do the Artificial Neural Network do not receive any
information regarding the expected output? -
a. Supervised learning b. Unsupervised learning c¢. Forced learning d. Reinforcement learning

For learning, the Artificial Neural Networks modify the ......................

i) weights associated with edges

i1) threshold of nodes -
a. Only (i) b. Only (ii) c. Both (i) and (ii) d. Neither (i) nor (ii)

Which of the following statements is correct regarding Artificial Neural Networks?
a. They execute programmed instructions

b. Their nodes save results in specified locations

c. Their nodes respond to the pattern of inputs presented to them

d. They work on deterministic computation steps

The nodes of the Artificial Neural Networks are commonly ............ .
a. arranged in layers  b. arranged in circles c. arranged randomly d. arranged in a pentagon

Which of the following input() function will give syntax error? _ .
a. input(num) b. input(number) c. input(“integer number”) d. input(integer number)

Contd...
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Which of the following is invalid?
a. _abc=15 b. __abc=15 c. __string_ =15  d. None of the above

Which of the following cannot be a variable?
a. __word b. in c. it d. on

Select the option that print—> hello-world-bye

a. print(“hello”,’world”,’bye”) b. print(“hello”’world” bye”+7-*3)
¢. print(“hello”+"world-bye”) d. print(*hello”+”-“+"world”+”-“+"bye”)
Which statement is true?
a. Python is a high level programming language. b. Python is an object-oriented language.
c. Python is an interpreted language. d. All of these
Which of the following commands will create a list?
a. Listl=list() b. Listl=[}] c. Listl=list([4.5,6,7]) d. All of the above
Section C : Answer any 3 out of 5 questions: (2x3=6)

What is communication?

What do you understand by the term Management?

Mention any three ICT tools that are used in day-to-day life.

How will you define an entrepreneur?

What do you understand by overexploitation of natural resources?

Section D : Answer any 4 out of 6 questions: (2x4=8)

The use of artificial intelligent systems should be restricted because the increase in use is related to an
increase in the risk of hacking. Comment

Give two examples of how artificial intelligence can change the defence sector in the coming future.
What is the best source of data for Al System Data Acquisition?

How are data requirements connected to data curation?

Differentiate List and Tuple.

Find the errors in the following program if any

A,b,c=10,10,10

print(A-+b+c)

Section E : Answer any 3 out of 5 questions: (4x3=12)

What are 4 stages of Al Project Cycle? Explain in brief.

What is Big data ? Big data is normally defined on the basis of three parameters. Which are these three
parameters?

What are decision trees? How are they created?

Write a program in python to convert Celsius measurement to Fahreheit.

Create a Python list containing even integer elements from 3 to 11 and print the count of the even
numbers.
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General Instructions:
* All the questions are compulsory. There are 50 questions of 1 mark each.
® Answer all the questions by writing the correct option number in the space provided.
1. A man sitting on a train in motion is facing the engine. He tosses a coin up, the coin falls behind him.
The train is moving

(a) Forward with uniform speed (b) Backward with uniform speed

(¢) Forward with acceleration (d) Forward with deceleration
2. Aforce of 980 N acts on a body for 0.1 seconds. Calculate the change in the momentum of the body. |

(a) 98 Ns (b) 9.8 Ns (c) 0.98 Ns (d) 980 Ns j
3. Ifthe distance between two bodies is doubled, the force of attraction ‘F’ between them will be

(a) iF (b) 2 F (©) ; F (@F ]
4. Pressure at a point in the liquid is

(a) Same in all directions (b) Greater in the upward direction

(c) Greater in the downward direction (d) None of the above

5. Calculate the time taken by a water pump of power 500 W to lift 2000 kg of water to a tank, which
is at a height of 15 m from the ground.

(a) 300 s (b) 200 s (c) 600 s (d) 400 s
6.  The vibrations inside the inner ear are converted into electrical signals by the
(a) cochlea (b) tympanic membrane (c) pinna (d) anvil

7. Methods that can be used to determine whether a substance is pure are

(a) Melting point comparison  (b) Boiling point comparison (c) Chromatography (d) All of the above
8. A solid that sublimes on heating is

(a) sodium chloride  (b) copper sulphate (c) lead sulphate  (d) ammonium chloride
9. The process used to separate a mixture of ammonium chloride and iodine is

(a) sublimation (b) magnetic separation  (c) solvent extraction (d) chromatography :J
10. Oxides of non-metals are in nature.

(a) basic (b) acidic (c) neutral (d) all of these
1. Hydrogen gas is produced when metal reacts with

(a) acid (b) base (c) salt (d) both acid and base
12. In 1998, the Supreme Court had ordered that all the public transport vehicles using diesel were to switch to

(a) CNG (b) LPG (c) petroleum (d) coal

13.  Acid rain is caused by oxides of
(a) sulphur, nitrogen  (b) sulphur, carbon  (c) carbon, nitrogen  (d) phosphorus, carbon
14.  Nissl’s granules are present in

(a) muscle cells (b) nerve cells (c) bone (d) cartilage
15. Which of these cell type cover the inside of your mouth?
(a) Squamous epithelium  (b) cartilage (c) blood (d) Cuboidal epithelium [:
16. Ribosomal RNA is actively synthesised in '
(a) nucleoplasm (b) ribosomes (c) lysosomes  (d) nucleolus
17.  The powerhouse of a cell is
(a) Lysosome (b) Golgi apparatus (¢) Mitochondria (d) ER
18. Common cold is caused by _
(a) bacteria (b) virus (c) protozoa (d) fungi :I
19. Which of the following food products has highest amount of unsaturated fats? ,
(a) vegetable oil (b) palm oil (¢) poultry (d) whole milk

20.  What name can be given to glucose, fructose and galactose?
(a) Non-reducing sugars  (b) Disaccharides  (c) Monosaccharides (d) Polysaccharides
21. Saka era was founded by

(a) Ashoka (b) Harsha (c) Kanishka (d) Vikramaditya
22. Porus was defeated by Alexander at the battle of o
(a) Buxar (b) Heart (c) Kabul (d) Hydaspes
23. The name by which Ashoka is generally referred to in his inscriptions is _
(a) Priyadarsi (b) Dharmadeva (c) Chakravarti (d) Dhamiakirti j
24.  The great bath of the Indus Valley civilisation was discovered in :
(a) Mohenjo-daro (b) Ropar (c) Harappa (d) Lothal :]
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Who among the following was a blind poet who worshipped Krishna and spread Krishna bhakti cult?
(a) Kabir (b) Surdas (c) Bihari (d) Raskh
The Sikh guru who fought the Mughal was

(a) Guru Nanak (b) Guru Arjun Dev  (¢) Guru Gobind Singh  (d) Guru Teg Bahadur
Tulsidas wrote Ramcharitmanas during the reign of

(a) Akbar (b) Jahangir (c) Rama Roy (d) Krishnadev Roy
The peacock throne was made for
(a) Aurangzeb (b) Akbar (c) Shahjahan (d) Jahangir

Who administers the oath of office to the President?

(a) The chief Justice of India  (b) The speaker  (¢) The Prime Minister (d) The vice president
The members of Rajya Sabha are called

(a) MLA (b) MP (c) PM (d) President [
The members of Rajya Sabha are elected '
(a) directly (b) indirectly (¢) both (a) and (b) (d) none of these

The Panama Canal links

(a) Mediterranean Sea with Red Sea (b) Atlantic Ocean with Indian Ocean

(c) Indian Ocean with Mediterranean Sea (d) Atlantic Ocean with Pacific ocean

Which of the following occur most frequently than the other three in the Indian Ocean?

(a) cyclones (b) hurricanes (¢) tornadoes (d) typhoons I_——
Cyclone is a system of wind blowing

(a) Spirally outwards from a high pressure region (b) Spirally towards low-pressure region

(¢) In a straight line from high to low pressure region (d) From Bay of Bengal towards Bangladesh annually
In which region can be phenomenon of midnight sun be observed?

(a) In the tropical zone (b) In warm temperature regions

(c) In the Arctic and Antarctic region (d) Anywhere at the time of solar eclipse

The number of females per thousand males refers to

(a) Sex ratio (b) Literacy rate (c) Infant mortality rate (d) Birth rate D
COPRA is

(a) Consumer operating protection regulation authority (b) Consumers protection act

(¢) Consumer protection authority (d) All of the above

According to Census 2001, a literate person is one who

(a) Can read and write

(b) Can read and write any language

(c) Is seven years old and can read and write any language and with understanding
(d) Knows the three “Rs” (reading, writing, arithmetic)

Which of the following is a fixed capital?

(a) Clay (b) Yarn (c) Tools (d) Seeds :I
Despite less calorie requirement, urban areas have a high poverty line because

(2) Food articles are more costly in urban areas than in rural areas.

(b) Urban people eat more.

(¢) Causes of poverty are different in urban areas.

(d) Antipoverty programmes are biased in favour of the urban people.

Find the least number by which 336 be multiplied to make it a perfect square.

(a) 21 (b) 36 (c) 34 (d) 46

Five-eighth of three-tenth of four-ninth of a number is 45. What is the number?

(a) 470 (b) 550 (c) 560 (d) 540

The sum of two numbers is 20 and their product is 40. The sum of their reciprocals is

(a) 1/10 (b) 1/2 (c)2 (d) 4

In a history examination, the average for the entire class was 80 marks. If 10% of the students scored 95
marks and 20% scored 90 marks, what were the average marks of the remaining students of the class?

[]

N

(a) 60 (b) 72 ()75 (d) 85
One-fourth of one-third of two-fifth of a number is 15. What will be 40% of that number?
(a) 120 (b) 350 (c) 270 (d) 180

Working together, two water pumps A and B can fill a water tank in three hours. Working alone pump
A can fill the tank in four hours. How long does it take Pump B, working alone, to fill the same tank?

(a) 12 hours (b) 15 hours (c) 30 hours (d) 20 hours
Find the measure of an angle which is complement of itself.
(a) 45° (b) 36° (c) 42° (d) 35°

An open box is made of wood 3 cm thick. Its external dimensions are 1.46 m, 1.16 m and 8.3 dm.
The cost of painting the inner surface of the box at 50 Paise per 100 sq cm is

(a) T 140 (b) X277 ()T 415.50 (d)X 650

A metal sphere of radius 5 cm is melted to make a cone, with base of the same radius. What is the
height of the cone?

(a) 10 ecm (b) 15 cm ()20 cm (d) Scem

A cylindrical pipe has inner diameter of 7 cm, through which water is being pumped out. How many
litres of water are being pumped out in one hour if the flow of the water is 72 cm per second?

(a) 97793 litres  (b) 9898.4 litres (c) 9979.2 litres (d) 9504.1 litres
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